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Instructions : (1)  Check the question paper for fairess of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

Fﬁlt}q : Peuellerssrer mushiE LGHsameas QararLgy).

ote : This question paper contains four parts.
u@d - 1/PART -1
Py : () Siewensg edarssEns@Gh e wallssa. 12x1=12

i) Qsr@ssiulBerer prenG wIHY e safio Wsaw ;,r_;l;)uafl_u_:
daoLloas Csipdshss GNELELE e Weaeny Ga_rrgiqj
T(PSHYLD.
bte : (i) Answer all the questions.

i) Choose the most appropriate answer from the given four alternatives and write
o the option code and the corresponding answer. - .
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1. 80 ﬂlcmﬂunth siens ercug P& swwrEb.
(<o) 9.8 @Len ‘ (&p) 98X 104N
(@) Bx10% e (rr) 980 @i
One kilogram force equals to :
(a) 98 dyne (b) 98X 10N
(€)  98x10% dyne (d) 980 dyne

2. ol gpuawes Hpar genpuriesd sfl Calw o gaeug :
() GehlQeens (=) GYWQaens

The eve defect ‘Presbyopia’ can be corrected by :

(a) convex lens (by concave lens

(c) convex mirror (d) bifocal lens

10 sagynt SengriLgens e Weaapblgcar @een® vdralls@Ensfao Cu pangs
Cadiiuimn Gaen 100 ] erefla AnydarafisEnsfocCu edm Baegss
Geugguinly aranan 7

(o) 0.1 Gauméot’ (vy,) 10 GarérL

(@) 100 (rauran (rr) 1000 Ganmedn’

The work done in moving a charge of 10C acroas b points ina dircuit is 100 1. What i« the

potential difference between the points ?
(ay 01V W 10V

fey 1V 1000V
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Qswpens a,ﬂﬂm&;&,ﬁ,ﬁmmf‘ @ fpseu :

(1) Qu&QsTye (p) gflen Ay
(&) Trewr ger (r) fBevev Gumd
Artificial radioactivity was discovered by :

(a) Becquerel (b) lrene Curie

(c) Roentgen (d) Neils Bohr

@rsssoma e marssda Camauliu@h wpésluwre g Cavwan

(1) Ag (<) Hg (@) Mg (17) Al

is an important metal to form amalgam.

(a) Ag (b) Hg (c) Mg (d) Al

@GOG Qeuuufloaute, H(PEEEOE gl rtsgoCurg frogde cumuedien

sendlpen
(<) -opafsdng

(7) eilenen o

(S4) wrHDLlLH

(@) ©Gopdng

When the pressure is increased at constant temperature, the solubility of gases in liquid

s
—

(a) no change (b)  increases

(c) decreases (d) no reaction

G sogsdien pH wduy 3 crefle, Sigen [OH™] Geplay eremen ?

() 1x107° M ()3 M (@) 1x10°1"'M  (7) 1M

The pH of a solution is 3. 1ts [OH ~] concentration 15 :

(@) 1x10 M (b) 3M (¢ 1x10-1M  (d) 1M
[ Q@Ul‘lﬁ / Tum Over



10.

C,HsOH + 30, = 2CO, + 3H,0 erenug! :
(1) sTgemre) @HESD

() rggpenmed erfiged

(@) Tesamis Sl osHRGaPPD
(F) oTHsCened 2y&élgmCanhpLd

C,H;OH + 30, =+ 2C0O, + 3H,Ois:

(a) Reduction of ethanol

(b) Combustion of ethanol

(c) Oxidation of ethanoic acid

(d) Oxidation of ethanal

areuGuilwen Ll enLsear Geuflen _ ugfle sreruuBEDS.
(31) ypenfl () Lig
(®) Quilensédler (1) HHCHT

Casparian strips are present in the of the root.

(a) cortex .tb) pith

(c) pericycle (d) endodermis
awes GGrreLrGemild Qeen Crmblwi e@wwse srerruuB DS
(21) eCorGaar A& (&) QuiLr@sen As
(@) sU-QuiLr@sar_fls () Si&Crrlaaniis
The centromere is found at the centre of the chromosome.
(a) Telocentric (b) Metacentric

(c) Sub-metacentric (d) Acrocentric
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11. &8 el e ,ﬁmfn :
.ai . '
( ) YFLUT 1 (‘%) G a1
(®) eure 22

(FF) NECLTur 2

World AIDS Day :

()
(c)

pecember 1 (b) May 31

April 2 (d) October 2

12. SPEQLOL sr@emraiisemer e manss LwELEL Quwd Quiger evgl ?

(34) Paint () PDF
(@) MS Word (") Scratch

Which software is used to create animation ?

(a)
(c)

@iy :

Note :

Paint () PDF

MS Word (d) Scratch

LS - 11/ PART -1

semaCugd g HemssEné@ e wafissab. flenn ereim 22 -&(®
sL_Lmuwns efenweflssayd. 7x2=14

Answer any seven questions. Question No. 22 is compulsory.

13. g sGorfl - aerul.

Define one Calorie.

14. QpL

L_eney erempired erenen 7

1 wave ?

What is a longitudina ‘
He : [ﬁ@u'—lﬁ / Tum Over
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13. RO BmGwisgissran Do sramismad sms.

State two conditions necessary for rusting of iron.

16. Jurmiss.
. levars Qawg Qzr@d -OH () OGuender
2. uddler ueanus Caiomisdr (i) Quriirfwn evrwCr
3. Bepapr Criwriisgr (i) psami
4. Geruy (iv) Qwpres
3. &miGur euenemws Csrwmiser (v) wmglen

Match the following :

1. Functional group -OH (i) Benzene

2. Heterocyclic compounds ) Totassium Stearate

3. Unsaturated compounds (iii)  Alcohol
4. Soap (iv) Furan

Carbocyelic compounds (v) Ethene

':.H

17. @su aurdayaedlaan aphdluigguanh aaren ?
What is the importance of valves in the heart ?

. . ‘ : ' aaurs esaafidramn ?
™ Cuninis eranpre 6 dTen ? eng eriang Wauwh &,

3 ]
What i Bolting 7 How can it be indw el artificially
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19. Qar@ésiu Gerer uSPD A B C D gy ursmsmar @) sramad-

=
K

[ B
Eramay
~

o,
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ety
pi iy
' gy
Ly
Xw
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20. def upealer AmgaeLbs QPsmssd. GO AUDLULL UBTY. & g

21.

22,

QUPUILIL L UL 6Tall SiMPESLLINEINS ?
The ﬁegenerated wing of a Kiwi is an acquired character. Why is it called an acquired

character ? _

s Qe LULBeusTd o e @ elemaraisar wrea ?

What will happen if trees are cut down ?

BCsalle oetar gefloiisafian 5655 Gowamu SRS,

Find the mass percentage composition of methane (CH,).

[ﬁ@ﬁqﬁ / Turn over



u@# - 1/ PART . 1y

@;ﬂuq : qmm(:luwtb (P cHlaTéss @hém, e afsasaD. edenr eram 32 -%(5
S-Lmuors dienwellasey. 7x4=2

Note : Answer any seven questions. Question No. 32 is compulsory.

23.  peellwe, ury swenumipenen Hmah.

Derive the ideal gas equation.

2. AlLlumieney wpgyn grruunieney GepurPaser CaupLOSES.

Differentiate the eye defects : Myopia and Hypermotropia.
25, pour, Sl wpmpn arors sdiseen ueTLsener GUIAGS.

Compare the properties of alpha, beta and gamma radiations.

26. SeusT Grr dlfulen LweTLTRE®ET (PSS
Write the applications of Avogadro’s Law.

27. (i) o Corss senel eTeNDNL crenen ? .

-

(i) oCorss s L(HUTEGUSDETE STTERTUEDCTS Fais.
(i) Whatisan alloy ?

(i) State the reasons for alloying.

28. GaminSen FNUMDWIEESD (penpenws eHlersEs.

Explain the mechanism of cleansing action of soap.
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29, Ll enulley penL Glumd BDLUQuUWIFES @Ggé.ﬂuﬁ\éﬂ ugferevsenar TPHIS.

How does locomotion take place in leech ?

30. Purrefler wenwiemu uLsgILen efleufigseyw.

With a neat labe]led diagram, explain the structure of a neuron.

3. ()  wewefuQemme R @RT_&68 4 eflenaTayser Weney 7
()  wewreriieny Fellr ereueummy $HUSH ?
(i) ~ What are the consequences of soil erosion ?

(i) How will you prevent soil erosion ?

32. 90 Hz sfliCeuamrener e.eni_w 568 fpeaeng qedlulen feosCGausgda (1/10)
wLug Gusgdad guey Heawuldh eaa Calgpey SieoLéng. Calgprre
e aTUuURD SHTbleuat erene
A source producing a sound of frequency 90 Hz is approaching a stationary listener with a

speed equal to (1/10) of the speed of sound. What will be the frequency heard by the
listener ?

L@@ - IV /PART - IV
GOILY : semengg eflenmis@ps@n dlo_walssaun. Comauwrer GLisaiio L
EUEDTIIAYID. 3x7=21
Note : Answer all the questions. Draw diagrams wherever necessary.
33, (&) (i) o-pg wIprs CamlunieLs sl sgmen Qown9ss.
(i) AmuusPpen popieud weTUD.
SIVOG
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(b)

(a)

(i)
(i)

()
(i)

10

r

BenGenr Lib TN ereman ?

Lﬁ]GBTGmrrl;.l_g’,ﬂsh SVDNEE s, Sigenan mmuugéﬁal‘-b-
LﬁlG&TGmrrLL_gmg Th5 smeuien gpaid wareliL (PRUL ? SBOE G
Blensp e ereueumgy Dearssiuc Caan@n ?

State and prove the law of conservation of linear momentum.

State the principle of moments,
OR
What is meant by electric current ?

Name and define its unit.

Which instrument is used to measure the electric current ? How should it be
connected in a circuit ?

rrb e Highan CorwhsEns@n. Fro o Higsd sy GamohsEns@L
@erL Cuwrer CaupurBser wrene: ?
et QpCgemusailer Breurp o Wiflaiisdr siflan cumpdlenper. gem ?
S DETEY FHIHLD GUNTILIMISSAYLD.

SI6VVGI
Bereflenan wpmib Berrevlenar CaunuB s
‘A’ aremp S’ CInngens QeuluiL(BHHHIL @Un@gs feoghg ‘B LHHID
' erenp i cug sHEDE. 'C areanp e Bl CegisgnGurg
Siblag seenowns IHEDS crafléy, A, B pmibd ‘C -enwd sarhls.
In what way hygroscopic substances differ from deliquescent substances ?
on. Why ?

The acquatic animals live more in cold regi

Define volume percentage.

OR



(b) () Differentiate reversible and irrevergjble reactions.

(i) A solid ‘compcund ‘A’ on heating decomposes into gas ‘B’ and ‘'C’. On Passi.ﬂg
the gas ‘C’ through water, it becomes acidic. Identify A, B and C.

35. (1) Caupur® 5O5.
i) o dogloas grar Cuir whpb Gm dasglions greuy Geur.
(i) sSTHEETET KEUNFD WHMWD SErHHdQT SFEUTSD.
S|V
(@) ()  GCrrCurGsmilen ewlmu dafissa.
(i) Caupu@sss :
o L Qsar ghen Aflsews wppw Gensblad gen Hflsens.
(a) Differentiate the following:

(i) Monocot root and Dicot root

(i) Aerobic and Anaerobic respir:iui

QR
(b) (i) Explain the structur of » chromosome.

(i) Distinguish between somatic gene therapy and germ line gene therapy.
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